Physics
Adding Displacement Vectors – Word Problems
1.
The force vector  Fa  has a magnitude of 55.0 Newtons and points 23.0o north of east.  the force vector Fb   has a magnitude of 83.2 Newtons and points 21.9o west of north.  Find the magnitude and direction of the resultant Fa + Fb  by using the component method.

2.
A sailboat travels due west for a distance of 1.96 km and then heads on a bearing of 324.0o for another 3.45 km.  Using the component method, calculate the total displacement of the sailboat from its starting position.  Include both magnitude and direction.

3.
A golfer, putting on a green, requires three strokes to “hole the ball”.  During the first putt, the ball rolls 3.4 meters at 100.0o.  For the second putt, the ball travels 3.6 meters at 55.5o.  The third putt is 0.7 m at 345.0o.  What would have been the displacement needed to “hole the ball” in one putt?

	4.
Starting from point A, a football player runs the pattern given in the drawing by the three displacement vectors s1 , s2 ,  and s3.   The magnitudes of these vectors are s1 = 5.00 meters,  s2 = 15.00 meters, and  s3 = 18.00 meters.  Using the component method find the magnitude and direction of the resultant of these three displacements.
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5.
A sailboat race course consists of four legs.  The first three legs are as follows.  Leg 1 =  3.20 km (50.0o),  Leg 2 = 5.10 km (305.0o), Leg 3 = 4.80 km (247.0o).   The finish line coincides with the starting line.  Find the displacement for the fourth leg of the race.
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